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Question 1 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

For each question, four options are given. One of them is the correct answer. Make your choice
and choose your answer. (28 x 2 marks)

Which of the following is not a reptile?

A)

v B)
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 2

Muiltiple Choice
No

Thu 5th Aug 2021
N/A

28,624,659
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The ammows { —* ) in the disgram show how a substance moves In plants, siarting

froem the macts of tha planl.
fesats + sipm * {Baves
What e this substance?
A) air
B) soil
C) food
v' D) water
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,624,664
Question 3 Primary 4 Science » Primary 4 Science (Term 4)

Which animal has a 4-stage life cycle?

v A)

B)
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C)

D)

grasshopper
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Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,624,679

Primary 4 Science » Primary 4 Science (Term 4)

Question 4

Which one of the following shows the correct order when food moves through some parts of the
digestive system?

slomach small intesting lange nlesting

B)
’ %ﬁ ; /@
largs intestine small intestine stomach
C)
a
small intestine
D)
f@ ’
stornach large intestine small intestine
Question Type: Multiple Choice

Randomize Answers: No
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Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,624,715
Qu estion 5 Primary 4 Science » Primary 4 Science (Term 4)

The diagram below shows a knife.

j hiade
=

Metal is used to make the blade of the knife bacause metal

A) can reflect light
B) can float on water
v C) does not break easily

D) does not allow light to pass through

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,624,722
Question 6 Primary 4 Science » Primary 4 Science (Term 4)

Study the diagram below.

NI/

Which one of the following statements is true?

A) Both objects have the same size.

https://www.classmarker.com/a/tests/test/?test_id=1792916&trk=edittest_inrow_edit

2 pts

2 pts

6/51


https://www.classmarker.com/a/tests/qb/manage/?test_id=1792916&question_id=28624715
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792916&question_id=28624715&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792916
http://drive.google.com/uc?export=view&id=1LRWZaAntNThVVFUY15VtfKTEFUmQ7KZb
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792916&question_id=28624722
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792916&question_id=28624722&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792916
http://drive.google.com/uc?export=view&id=1wC3nXkha5bI4yWHUm8T3Z944xA_rYm82

8/6/2021

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 7

v’ B) Both objects have the same mass.

C) Both objects have the same shape.

D) Both objects have the same volume.

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,624,729

A) It will spin.
v B) It will stay still.
C) Itwill roll to the

D) It will roll to the

Question Type:

Date Added:
Last Modified:
QID#:

Question 8

A)

magnet

What will happen to the plastic ball?

left.

right.

Multiple Choice

Randomize Answers: No

Thu 5th Aug 2021
N/A
28,624,744

Which one of the following is a source of light?
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Primary 4 Science » Primary 4 Science (Term 4)

The diagram shows a magnet brought near a plastic ball,

plastic ball

Primary 4 Science » Primary 4 Science (Term 4)
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The moon

B)
A mirror
A lighted matchstick
D)
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A shiny coin

Question Type: Multiple Choice
Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A

QID#: 28,624,762

Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Question 9

Malcome wants to measure the temperature of hot water in a beaker. Which one of the following
diagrams shows the correct position of the thermometer when taking temperature reading?

A)

B)
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v C)

D)
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Question Type:

Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,624,793

Question 10
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Primary 4 Science » Primary 4 Science (Term 4)

Which one of the following properties is true for both air and a balloon?

A) They can be seen.

v B) They take up space.

C) They have fixed shapes.

D) They have fixed volumes.

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 11

Which one of the following is a characteristic of all fungi?

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,624,797
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Question Type:

Animals

A) All fungi can be eaten.
B) All fungi reproduce by seeds.

¥" C) All fungi cannot make their own food.

Multiple Choice

Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,624,805
Question 12
Study tha flowcha beloyw,

Does it lay

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 13

eggst
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D) All fungi can only be seen using a microscope.

Primary 4 Science » Primary 4 Science (Term 4)

M

A) Animal X lay eggs but Animal Z does not.

Muiltiple Choice
No

Thu 5th Aug 2021
N/A

28,624,847

fag Doesithvein | yas
waler throughoul o X |
its life cycle? —

Does it hava 3 Yes
slagis in ils fife
oyela?

-

Mo

Based on tha informaticn glves, wiech ona of tha follaising is trus?

B) Animals W and Z live in water throughout their life cycle.
C) Animal Z has a 3-stage life cycle but Animal Y does not.

v' D) Animal X lives in water throughout its life cycle but Animal Y does not.

Primary 4 Science » Primary 4 Science (Term 4)
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A)

v B)

C)

D)

=il
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The dingram below shows a water plant in a tank of watsr.

siem

water

Plant part

Function of the plant part

Leaf

Takes in and gives out gases

Plant part

Function of the plant part

Stem

Takes in water and minerals

Plant part

Function of the plant part

Roots

Hold the plant to the soil

Plant part

Function of the plant part

Flower

Develops into a fruit

Question Type:
Randomize Answers: No
Date Added:
Last Modified:
QID#:

Amount of pndigested 4
faod lasving esch anrgan

Muiltiple Choice

Thu 5th Aug 2021
N/A
28,624,906

Question 14

Which of the following plant part and the function is not correct for this plant?

Primary 4 Science » Primary 4 Science (Term 4)

The organs in tha digesiive systern are reprasented by the letters P, G, R, S and T,
The graph befow shows (he amount of undigasted food leaving each argan afier a
maal.

S .
s |
H !
R 5 T
Crrgens in the digestive system

Bamad on tha above grapha, which of the following is corect?
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A) | Mouth | Gullet | Small intestine Large intestine

P R Q T

B) |Mouth |Gullet | Small intestine Large intestine

T Q S P

v C) Mouth | Gullet | Small intestine | Large intestine
Q T P R

D) |Mouth|Gullet|Small intestine Large intestine

S Q R P
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,624,926
Qu estion 15 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

The tshie bebow shows (he propartias of four materdists, P, Q. R and S, A fick ()
irnfcates that the object has that property.

maﬁmala Waterproof Flaxibla . Sirgaeg

| P o W+ + —1}
0o ] Fy o

| H --l" vl

T - v

Bas=d an the iabla above, which materal, P, O, B or 5, i@ most sultable o make a food
fravy fiat can be used in fhe food centre?

A)
B)
v C)

»w 1 O T

D)

Question Type: Multiple Choice
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Randomize Answers: No

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,624,929
Question 16 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Ming Huf usad the sef-up balow b tesl tha strangth of four bags, A, B, G snd D, The
baga were of the same slze bul made of different materlals. He put garden soil into the
bags and increased the amount of scil in each bag until the bag broka,

i pilark

hook

hag
He racarded his resuils in the (abis below,

Bag Amount of soil that caused the bag to break {g)

A 580

B8 2500

c 2005

B 1220

Basad on tha reedlts above, which bag is most sultable to be used o camy 2000y of

rce?
A) A
v' B) B
C) C
D) D
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,624,950
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g a0 o

¥v" A) Aand D only
B) B and C only
C) CandDonly
D) A/B,CandD

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 18

A

B
c
D

ClassMarker -

A Cijocl ' hes the preates] voluma,
Cibjmet ¥ has a greater mass than W.
Cibfacts X and Y have the sarme voluifs
Obgect X has 8 greater volume than W,

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,624,954

Which of the following are not matier?

Cloud
lca cubes

Shadow of a tree

Sound of the school bell

https://www.classmarker.com/a/tests/test/?test_id=1792916&trk=edittest_inrow_edit
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Primary 4 Science » Primary 4 Science (Term 4)

Harmry condunted an axpeimant using three differsnt objects, W, X and Y. The
condmner of walsr s fitad up o tha spout, As each cbjed |s placad inlo the
camainar, aome wabar Newed aut from the spout and 1 cobactad In a beaker. Tha
amacunt of watar in the beaker was than measured and racorded,

(.-

20 mi Hml

2ml

Which of tha folowing can Hamy sonclude about the abave objects W, X and Y7

Primary 4 Science » Primary 4 Science (Term 4)
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A) AandBonly
B) AandD only
C) BandConly

v' D) CandD only

Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,624,981
Question 19 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

Substance 3 changes directly fram aalid to gas at reom tempersture. Chun L plecsed a
plece of 50 omd substancs S inlo a box. The volume of the boo; is 500 om?, Sha then
sealad the box tightly and fsit & in & room unéll all the substance 5 disappeared,

Substance &

What ks tha final waluma of airin ha box aftar sl of substanca 5 has disappeared?

A) 50cm?d
B) 450 cm?
v C) 500cm?
D) 550 cm?
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,624,987
Question 20 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 21

tray

Study the sat-up shown below,

ol of il e —

A) Put more steel paper clips in the tray.
v’ B) Connect another battery to the circuit.

C) Coil less turns of wire around the iron rod.

Multiple Choice
No

Thu 5th Aug 2021
N/A

28,624,995

u
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Wit ane of the following aclions would Increase tha number of steal paper dips
altrectad to the elsciromagnel?

D) Move the electromagnet further away from the tray.

Primary 4 Science » Primary 4 Science (Term 4)
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Rick placed ome end of a magnat close to a compass.
Morth pole of
M 5 | emall magned
Which of the foliowing observation(s) is/are pesshle?
Set-up
A
N g
B
8 M -
c B ¥ @
-
A) Aonly

v' B) AandD only
C) BandConly

D) B, CandD only

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 22
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Multiple Choice
No

Thu 5th Aug 2021
N/A

28,625,001
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v A)

B)

C)

D)

https://www.classmarker.com/a/tests/test/?test_id=1792916&trk=edittest_inrow_edit

Question Type:
Randomize Answers: No
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The diagram below showe a way io separale a mixture of differant objects made of

various matarials,

milzhure of
e

objecis

Which of the following shows tha matarials st can be found n P aned 7

Container P | Container Q

iron nail ice-cream stick, plastic straw

Container P

Container Q

cotton wool, plastic straw | iron nail

Container P Container Q

ice-cream stick | cotton wool, copper coin

Container P

Container Q

iron nail, copper coin

plastic straw, cotton wool

Question 23

A)

Multiple Choice

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,012

How should Dan place the cups of hot waler 1o ensurs a fair tast?

Primary 4 Science » Primary 4 Science (Term 4)

Dan camied cut an imeeatigetion o fnd oul which matedal is the best conducior of
faat, He added the sama amounl of hot weter st 905G nio sach cup. Ha than
mieasured the me 1aken for the hot water o cool down to 50°0.
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plastic «@— metal

ceramic

B)

plastic

C)
8— ceramic

v D)
plastic metal
@ "
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,027
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Question 24 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

A group of students carriad out an experimant with two similar rods, A and B, a5
shown bekow, Al the slart of the experdment, the rods were of the sama langth.

After 20 minutes, the length of gach rod was measured and Be rasults were
recorded.

rod B

= bunsen bumer

Which of the following shows the comect conclusion for this experimant™

A) Rod A lost heat and became longer.
v B) Rob B gained heat and became longer.

C) Rod A gained coldness and became shorter.

D) Rob B lost heat to the surrounding and became shorter.

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,050
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Andy made four similar bowes using differant matedals A B, C and B, The

tlamperaiure of the airinsbde the box ot the beginning of e experiment wes 25°C,
He then keft the bokes under tha sun for ons hour,

He m_uu.umd and recorded the tamparatire of air insds each box al the end of the

exparimant. :
it o | TomOocai o i o bt o
M 3
B 35
[ & | 8 .
o a6

Which ona of the following matansls would ba moal psiakis far making & box 1o
elow down ics gream from meting?

A) A

B) B

v C) C

D) D

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,625,057
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Johin was reading & book in his room &8 shown Dalow,

Wihich of the following axphainis) wity e was able to see the words on his book?
A Light travels In a siralght lins.
B Light is givesn aut by all objects.
c Light was refiected into John's eyes.
D Light cannot be reflacied from the book

A) Aonly
B) B and D only
¥v" C) Aand Conly

D) B, CandD only

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,625,071
Question 27 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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Hebe siood under & larnp &s shown below,
T u
She walked from position S 1o position T, and then fo pasition U in # slraight line,
Which graph shows how the length of her shadow changed during this time?
A)
Length of shadow
'
—r
Time
Length of shadow
A
.
Time
C)
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Length of shadow

3

3
Time
v D)
Length of shadow
&
5
Time
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,091
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Sam had fhres objects, 5, T and U, which wene made of cifferant matedals.

2 aem . - hem : *ﬂ_
J.nln
Bem D.-"'
5 T 1]

He arangad the objects in a sat-up as shown below.

-

torch 3
on spport

— =
Pt =

SLIeea

Wi hie switchad on the torch in 2 dark room, he obsened the following shadoe
el on the' Soresn.

VW hich ona of tha fallowing represents the properties of the matarials for objects 5, T

and LFY
A |s T u
Does not allow light to pass | Does not allow light to pass | Allows most light to pass
through through through
B) |s T u
Does not allow light to pass | Allows most light to pass | Does not allow light to pass
through through through
v C) S T U
Allows most light to pass | Does not allow light to pass | Allows some light to pass
through through through
D) |s T u
Allows some light to pass | Does not allow light to pass | Does not allow light to pass
through through through
Question Type: Muiltiple Choice
Randomize Answers: No
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,112
Question 29 Primary 4 Science » Primary 4 Science (Term 4) 3 pts
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Match the following animals to the correct groups.

Clue Match

Mammal

Points: +1 =0
Bird
Points: +1 =0
Insect
Points: +1 =0
Incorrect match option Fish

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,141
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Question 30 Primary 4 Science » Primary 4 Science (Term 4) 2 pts

The diagram below shows different stagas (X, ¥ and Z} in the growth of a young

g~ & —

Fill in the blanks using the correct answers given in the list below.

Clue Match
The plant at stage can make its Z

own food ...

Points: +1 =0

... because it has leaves
Points: +1 =0

Incorrect match option X
Incorrect match option Y
Incorrect match option roots

Incorrect match option

stem
Question Type: Matching
Shuffle Mode: Shuffle Matches Only
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,171
Question 31 Primary 4 Science » Primary 4 Science (Term 4) 2 pts
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The pictura below shows a cup of hot tea.

tea

cup

Choose the correct state for the following things.

Clue Match
The teais a . liquid
Points: +1 =0

The cupis a . solid
Points: +1 =0

Incorrect match option gas

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,625,184
Question 32 Primary 4 Science » Primary 4 Science (Term 4) 3 pts

The diagram below shows an agquarium in Jon's house.

Fill in the blanks using the correct words given in the list below.

Clue Match
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Part A is made of glass because it allows Light
to pass through so that Jon can see
the fish in it.

Points: +1 =0

Jon has to be careful when he cleans the Breaks
aquarium because part A easily
when dropped.

Points: +1 =0

When the aquarium is placed near the Gain
window, the sun shines on it. This causes
the water to heat.

Points: +1 =0

Incorrect match option Lose

Incorrect match option Heat

Incorrect match option Bends

Question Type: Matching
Shuffle Mode: Shuffle Matches Only

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,625,204
Qu estion 33 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

The diagram balow shows the life cycie of a buttarfly.

pupa

Why is it important for living things to have an adult stage in their life cycle? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,213
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Correctly answered feedback
Only adults can reproduce or produce young.

Incorrectly answered feedback
Only adults can reproduce or produce young.

Question 34 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

The diagram bedow shows the life cycle of a buttarfly.

pupa

State two differences between the larva stage and the pupa stage of a butterfly. (2 marks)

Difference 1:
Difference 2:

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,224

Correctly answered feedback

Difference 1: The larva eat a lot but the pupa does not eat.
Difference 2: The larva moults but the pupa does not moult.

Incorrectly answered feedback

Difference 1: The larva eat a lot but the pupa does not eat.
Difference 2: The larva moults but the pupa does not moult.

Qu estion 35 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Tha diagram below shows the life cycie of a butiarfly.

pupa

At which stage of the life cycle is the butterfly a pest to farmers? Give a reason for your answer. (1
mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,231

Correctly answered feedback

The larva stage because larva eat leaves.

Incorrectly answered feedback
The larva stage because larva eat leaves.

Question 36 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Gary wassted b find out f the member of saves a plant has aflects fs growth. He
uead iwo stmilar plants, A and B. Plant A had all ks leaves while plant B had most of
il% heavas removed

Ha watarad the teo planks daily with the sarme amount of water and placed them
et b each other in the garden as shown in the set-up below.

plart A plant B

After a few weeks, Gary observed that plant A grew taller than plant B.
Explain why plant A was able to grow taller than plant B. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,244

Correctly answered feedback
Plant A has more leaves so it is able to make more food and grow taller.

Incorrectly answered feedback
Plant A has more leaves so it is able to make more food and grow taller.

Question 37 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Gary wassted b find out f the member of saves a plant has aflects fs growth. He
usad two slmilar plants, A and B. Pland A had all &5 lesves while plant B had most of

ils beavas removed.

Ha watarad the ten plants daily with the sarme amount of water and placed tham
necd b mach obhor in the garden as shown in e sat-up below.

# oot |
.f r:"l' HH.I ..- "4

plart A plant B

Do you think Gary's experiment is a fair one? Explain your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,625,253

Correctly answered feedback
Yes, there is only one changed variable which is the number of leaves.

Incorrectly answered feedback
Yes, there is only one changed variable which is the number of leaves.

Question 38 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Tha table balow shows parts of the human digestive syatem and thair furctions.

FI.II"I'E‘“?I'IH_.___________M_______.I
Parts of the human |  Digestion of food Digested food is
digestive system _ takes place absorbed into the
bloodsiream
P g Mo
4] a3 Ties

Which organs do part P represent?

Accepted answers:
¥ mouth

v’ stomach

https://www.classmarker.com/a/tests/test/?test_id=1792916&trk=edittest_inrow_edit 35/51


http://drive.google.com/uc?export=view&id=1mMfsBhGPfAyf2ru8IfwPbmuGsaR1cK7S
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792916&question_id=28625253
https://www.classmarker.com/a/tests/qb/manage/?test_id=1792916&question_id=28625253&duplicate_question=1
https://www.classmarker.com/a/tests/test/order/?test_id=1792916
http://drive.google.com/uc?export=view&id=1sQh2NeFQ9sbBjHVPTyo7CF-1tLhreyR0

8/6/2021 ClassMarker - Manage Test

Question Type: Free Text

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,291
Question 39 Primary 4 Science » Primary 4 Science (Term 4) 1 pt

Than tabln balow shows parts of the human digesfive system and thair furctions.

Y Function |
Parts of the human | Digestion of food “Digested food is
digestive system  lakes place absorbed into the
bloodslream
P Yes No |
b Yiag "|"-|]-.|.5._ |

Which organ do part Q represent?

Accepted answers:

v small intestine

Question Type: Free Text

Date Added: Thu 5th Aug 2021

Last Modified: N/A

QID#: 28,627,322
Question 40 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Duse Io soma madicsl conditions, a patient had b undergo swigany to cut away a
part of his lamge intestine,

The diagram below shows the tangs intestine before and afier the surgery.

— W,

The shostening of the large intestine afiecta tha amownt of s suface ansa,

il cuf

State what you think will happen to the waste that is passed out from the patient's body. Explain your
answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,379

Correctly answered feedback
The waste would have more water. There is less surface area of the large intestine to absorb less
water.

Incorrectly answered feedback
The waste would have more water. There is less surface area of the large intestine to absorb less
water.

Qu estion 41 Primary 4 Science » Primary 4 Science (Term 4)

Faran warded be cool diswn & bitile of watar guickly. She placsd e bebls of watar
on top of & biock of loe as shown baelow in diagram 1

"hattie of wader

ik of lee ﬁ

Diagram 1

Hanan's mathar fodd har that she shouid crush up the bock of ioe and put e boltie
of water info the crushed ica to cogl it {asier, 85 shown in diagram .

Do you agree with Karen's mother? Give a reason for your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,396

Correctly answered feedback

The crushed ice have more exposed surface area. There is an increase in the contact surface area
between the ice and the bottle of water, more heat from the water can be transferred to the ice.

Incorrectly answered feedback

The crushed ice have more exposed surface area. There is an increase in the contact surface area
between the ice and the bottle of water, more heat from the water can be transferred to the ice.

Question 42 Primary 4 Science » Primary 4 Science (Term 4)
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Faran warded be cool diswn & botile of watar guickly. She placsd e bebls of watar
on top of & block of loe as shown below in diagram 1

"hattie of wader
o - containar of
tilock of oo 4 g\ crushed ice
E*ilitEe
Diagram 1 D&agram 2

Haran's mathar foid har that she shousd crush up the Bock of ioe and pul e boltie
of waler indo the cnushad oo to cool it fasler, a5 shown indiagam 3.

Karen then poured 100 ml of cold water from the bottle into two different cups. The cups are made of
metal and styrofoam. Karen realised that the water in the metal cup is warmer than the water in the
styrofoam cup after 10 minutes. Explain why this happens. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,406

Correctly answered feedback

Metal is a better conductor of heat than Styrofoam. Heat is transferred faster from the surroundings
to the water in metal cup.

Incorrectly answered feedback

Metal is a better conductor of heat than Styrofoam. Heat is transferred faster from the surroundings
to the water in metal cup.

Question 43 Primary 4 Science » Primary 4 Science (Term 4)

Adarn poursd 300 cm® of send froen container X indo comtalner Y as shown in ha
diagram baiow,

A00 Gt of sand

Adam observed that the volume of sand does not change after pouring into a bigger container Y. State
a property of sand based on Adam's observation. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,419

Correctly answered feedback
Sand has a definite volume.

Incorrectly answered feedback
Sand has a definite volume.

Question 44 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

Adarn poursd 300 cm® of send froen container X indo comtalner Y as shown in ha
deagram balow,

300 e of sand

containar ¥

Adam also observed that the sand took the shape of container Y. He concluded that sand is in the
liquid state. Using the properties of matter, explain why Adam is wrong. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,432

Correctly answered feedback
Sand is a solid and have a definite shape.

Incorrectly answered feedback

Sand is a solid and have a definite shape.

Question 45 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Adarn poursd 300 cm of ssnd froem container X o contslner ¥ as shiwn in e
diagram Lo,

300 cm? of sand

contalnar ¥

Adam then poursd 200 cm® of waler ino conlaimess Y as shown belew, Ha obasread
soma bubblas ascaping from the sand.

Total valume rrdclures of sand and walar

Wil the fotal volume of sand and waler be equal b 500 crr, mone han
500 crv or fesa than 500 cre?? Explaln your answer, 1]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,446

Correctly answered feedback

Less than 500 cm?3. There is air space's between the sand, water will take up the space previously
occupied by air.

Incorrectly answered feedback

Less than 500 cm3. There is air space's between the sand, water will take up the space previously
occupied by air.

Question 46 Primary 4 Science » Primary 4 Science (Term 4)
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The diagram balow shows how Car used a magnet 1o siroke n iron bar £ 1o make it
it @ termporany magnet,

bovament of magned

Magnat A———

= |

_ﬂ—lmn har 7
(=]

What should Carl do if he wants to increase the magnetic strength of iron bar Z? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,485

Correctly answered feedback

Stroke the iron bar more times.

Incorrectly answered feedback
Stroke the iron bar more times.

Question 47 Primary 4 Science » Primary 4 Science (Term 4) 0 pts

The diagram below shows how Canl used 8 magnet o stroke n iron bar 2 1o maks it
into & termporany magnat,

Bhovament of magnet

Magnat A——-i—

l'_ _ﬂ—lmn barZ
P Q

Haxt. Carl conducted an exparimant ba find out I the megnatic strangth of bar
magnats incroases with size. Ha hung threa magnste, A, B, C. and the magrssed
ian bar £ ot the different dMWMmmwﬂﬂhmﬂ filed wilh edqual
murmber of paper cips. Tha resull of his axpariment is shown bedow.

Paper clips
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Carl thinks that the magnetised iron bar Z is the weakest magnet. Do you agree with him? Explain why.
(2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,561

Correctly answered feedback
Yes. It is the closest to the tray of paper clips, but it attracted the least number of paper clips.

Incorrectly answered feedback
Yes. It is the closest to the tray of paper clips, but it attracted the least number of paper clips.

Question 48 Primary 4 Science » Primary 4 Science (Term 4)

Maxt. Carl conducted an expariment ba find out I the megnatic strangth of bar
magnats incroases with size. Ha hung threa magnsts, A, B, C, and the magnesed
ion bar £ at the differeat dla'tarmaww!mm:aimh‘ﬂ&ﬂ_lhuaw filed wilh edqual
mumber of paper cips. The resull of his axperiment is shown bedow.

Faper clips

What can Carl conclude about the size of magnets and the number of paper clips attracted? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,570

Correctly answered feedback
The size of the magnet does not affect the number of paper clips it attracts.

Incorrectly answered feedback
The size of the magnet does not affect the number of paper clips it attracts.
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Qu estion 49 Primary 4 Science » Primary 4 Science (Term 4)

Mr Hiramyg conduched the supsriment balow in a dark reom
light sneor

connecied fo
d r
& fgroh -
bﬂ: ‘

position P

He observad that when no materal was placed al position P, tha armount of kg
charbenctend by the light sansor was 2000 units.

He: than placed materdals X ¥ and 2 st position P, one at & tims, Ha recomded the
armaund of light datected by the light sansar in the able below,

Materials | Amount of light detecied (uniis)
X 1800
Y Q
i B0a

What is the measured variable in Mr Huang's experiment? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,630

Correctly answered feedback
The amount of light that passes through the materials.

Incorrectly answered feedback
The amount of light that passes through the materials.

Qu estion 50 Primary 4 Science » Primary 4 Science (Term 4)
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Mr Huamng conductsed the oupsimeant below in o dark reom.

lhght sansor

connecied fo
d r
& fgroh -
bﬂ? ‘

position P

He observad that when no materal was placed al position P, tha armount of kg
chartencted by the light sansor was 2000 units.

He: than placed materdals X ¥ and 2 st position P, one at & tims, Ha recomded the
armaund of light datected by the light sansar in the able below,

Materials | Amount of light detected (units)
X 1300
Y 0
e Boo

State a property of material Z.

Accepted answers:

v translucent

Question Type: Free Text

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,643

Correctly answered feedback
Material Z is translucent.

Incorrectly answered feedback
Material Z is translucent.

Qu estion 51 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Mr Hiramyg conduched the supsriment balow in a dark reom
light sreor

connecied fo
d r
& fgroh -
bﬂ: ‘

position P

He observad that when no materal was placed al position P, tha armount of kg
chartencted by the light sansor was 2000 units.

He: than placed materdals X ¥ and 2 st position P, one at & tims, Ha recomded the
armaund of light datected by the light sansar in the able below,

Materials | Amount of light detected (units)
1800

)
Y L]
) Boo

What will happen to the amount of light detected if the torch is moved further away from the light
sensor? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,651

Correctly answered feedback

The amount of light detected will decrease.

Incorrectly answered feedback
The amount of light detected will decrease.

Question 52 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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Mr Hiramyg conduched the supsriment balow in a dark reom

& igroh -
bﬂ?

He obsarvad that whan no material was placed al position P, the amount of lkght

chartencted by the light sansor was 2000 units.
He: then placed matedals X Y and 2 st position P, one at & tims, Ha recomed the

armount of light detected by the light sansar in the 2k below,

position P

Materials | Amount of light detected (units)
X 1800
Y 0
e Boo

Nir Huang wants o make & treasure chest as shown in the diagram bedow.
Based on his results, which maledal, X, ¥ or Z, is most suitable to make pas
A of the treagure chest so thal no one can sea his treasures in the box?

Explain your chaica, [1]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,665

Correctly answered feedback
Y, because no light is detected by the datalogger when light was shone through material Y.

Incorrectly answered feedback
Y, because no light is detected by the datalogger when light was shone through material Y.

Question 53 Primary 4 Science » Primary 4 Science (Term 4) 0 pts
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daka conducted an expenment shewn below, An imn nzil was hung at the sama
distance mam the tao inon bars.

wire

=
&5 maiich T

Set-up A Satup B

State what Jake would observe when he turned on the switches in both set-ups A and B at the same
time. Explain his observation. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,687

Correctly answered feedback

Iron nail is attracted to iron bay Y. The iron bar Y has more coils of wire around it, so it is a stronger
electromagnet.

Incorrectly answered feedback

Iron nail is attracted to iron bay Y. The iron bar Y has more coils of wire around it, so it is a stronger
electromagnet.

Question 54 Primary 4 Science » Primary 4 Science (Term 4)
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daka conducted an expenment shewn below, An imn nzil was hung at the sama
distance mam the tao inon bars.

Maxt, Jake ramoved sat-up A and repeacad tha ron nall with object Z.

Whan the swiich in set-up B was lurned on, object Z moved away from Y.
Basad on his obsarvatons, whet could object 2 be¥ Explain yous @nséer, [2]

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,701

Correctly answered feedback

Object Z is a magnet. Only magnet can be repelled by another magnet when their like poles are
facing each other.

Incorrectly answered feedback

Object Z is a magnet. Only magnet can be repelled by another magnet when their like poles are
facing each other.
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Question 55 Primary 4 Science » Primary 4 Science (Term 4)
Tha diagram shows the layout of a stage for a shadow puppel shos.
fght sousma
|| i]
|
- L
14 i
| NP
¥ 1 g
L=l | TaE,
BETeEn
=
Students |
Cawing the show, bao puppets of Mentical shape and size wera used, Tha studenis
waiching the puppet show saw two shadows an e scraen as shown beiow.
Shadow of Shadaow of
puppel A puppat B
In order to form the above shadows, at which positions 1, 2, 3 or 4 were the puppets placed?
Clue Match
Position of puppet A: 1
Points: +1 =0
Position of puppet B: 4
Points: +1 =0
Incorrect match option 2
Incorrect match option 3
Question Type: Matching
Shuffle Mode: Shuffle Matches Only
Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,795
Question 56 Primary 4 Science » Primary 4 Science (Term 4)
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Tha diagram shows the Bayaut of 8 stage for a shadow puppet shae.

Iuhtl.lmm

BCEsEMN

Duaring the show, bao puppeés of Mantical shape and size were used. Tha stusenis
waiching the puppet show saw tawo shadows on e scraen as shiwn beiow.

Shadow of
pupped A

Give a reason for your answer in the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,805

Correctly answered feedback
Position 1 is nearer to the light source so the shadow formed will be bigger.

Incorrectly answered feedback
Position 1 is nearer to the light source so the shadow formed will be bigger.

Qu estion 57 Primary 4 Science » Primary 4 Science (Term 4)
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Tha diagram shows the Bayaut of 8 stage for a shadow puppet shae.

Iuhtl.lmm

BCEsEMN

Duaring the show, bao puppeés of Mantical shape and size were used. Tha stusenis
waiching the puppet show saw tawo shadows on e scraen as shiwn beiow.

Shadow of
pupped A

State a property of light that enables a shadow to be formed. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 5th Aug 2021
Last Modified: N/A
QID#: 28,627,815

Correctly answered feedback
Light can be blocked.

Incorrectly answered feedback
Light can be blocked.
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